

## **LKK Auto Consultants Pte Ltd**

51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Page No.:1 of 4

## ADJUSTMENT ON REPAIR COST FOR VEHICLE NO. SKE 6317R

Qty	Description of Parts	Condition	Estimate By Workshop (\$))	Our Adjusted (\$)
	REPLACEMENT OF PARTS			
1	BONNET (N)	DENTED	912.50	433.00
1	BONNET LOCK (N)	BENT	115.60	115.60
2	BONNET HINGES @\$68.90 (N)	BENT	137.80	137.80
1	BONNET WEATHER STRIP (N)	TORN	28.00	28.00
1	FRONT BUMPER (N)	DENTED	845.60	458.00
1	FRONT BUMPER LOWER GRILLE (N)	DEFORMED	215.80	215.80
2	FRONT BUMPER SIDE RETAINER @\$86.50 (N)	BROKEN	173.00	173.00
1	FRONT BUMPER REINFORCEMENT (N)	DENTED	385.20	213.00
1	FRONT BUMPER TOW COVER (N)	MISSING	58.60	58.60
1	FRONT GRILLE (N)	BROKEN	325.10	185.00
1	FRONT GRILLE LOGO (N)	NECESSARY	38.10	38.10
2	HEAD LAMP @\$835.90 (N)	BROKEN	1,671.80	1,400.00
2	HEAD LAMP LOWER BRACKET @\$86.50 (N)	BROKEN	173.00	173.00
2	FRONT FENDER @\$364.20 (N)	O/S DENTED / N/S TO REPAIR SEE LABOUR	728.40	364.20
1	FRONT SUPPORT PANEL (N)	DENTED	925.60	389.00
1	AIR CON CONDENSER (N)	DENTED	1,350.00	762.00
1	RADIATOR (N)	DENTED	1,421.00	1,150.00
1	RADIATOR FAN MOTOR (N)	SERVICEABLE	315.60	-
1	RADIATOR FAN BLADE (N)	CUT	98.50	98.50
1	RADIATOR FAN COWLING (N)	BROKEN	145.30	145.30
2	RADIATOR TOP MOUNTING @\$84.60 (N)	MISSING	169.20	40.00
1	AIR CON CONDENSER FAN BLADE (N)	CUT	98.50	98.50
1	AIR CONDENSER FAN COWLING (N)	BROKEN	155.40	155.40
1	RADIATOR SPARE TANK (N)	CRUSHED	145.00	145.00
1	WIPER TANK (N)	CRUSHED	102.40	102.40
2	FRONT FENDER INNER COWLING @\$97.00 (N)	SERVICEABLE	194.00	-
1	FRONT QUARTER GLASS GARNISH RH (N)	BROKEN	77.00	77.00
1	FRONT DOOR RH (N)	TO REPAIR SEE LABOUR	954.00	-

Report Ref No. CS3/FWD19019550/Eyf3e2-1



## **LKK Auto Consultants Pte Ltd**

51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Page No.:2 of 4

Qty	Description of Parts	Condition	Estimate By Workshop (\$))	Our Adjusted (\$)
1	FRONT WHEEL HOUSE PANEL RH (N)	TO REPAIR SEE LABOUR	412.00	-
1	TAIL GATE (N)	DENTED	1,145.20	636.00
3	TAIL GATE WINDSCREEN MOULDING @\$86.10 (N)	NECESSARY	258.30	258.30
2	TAIL GATE SHOCK ABSORBER @\$225.10 (N)	SERVICEABLE	450.20	-
1	TAIL GATE TOP LOCK (N)	BENT	335.80	189.00
1	TAIL GATE INNER TRIM (N)	BROKEN	453.60	180.00
1	TAIL GATE LOGO GARNISH (N)	SERVICEABLE	231.60	-
1	TAIL GATE LOGO (N)	NECESSARY	38.50	38.50
1	TAIL GATE EMBLEM 'FIT' (N)	NECESSARY	85.40	85.40
1	TAIL GATE WEATHER STRIP (N)	CRUSHED	196.40	120.00
1	REAR BUMPER (N)	DENTED	845.60	494.00
2	REAR BUMPER SIDE RETAINER @\$86.90 (N)	BROKEN	173.80	173.80
1	REAR BUMPER TOW COVER (N)	MISSING	62.50	62.50
2	TAIL LAMP @\$385.20 (N)	BROKEN	770.40	556.00
2	TAIL LAMP PANEL @\$218.60 (N)	TO REPAIR SEE LABOUR	437.20	-
1	REAR END PANEL (N)	DENTED	854.60	465.00
1	REAR END PANEL TOP GARNISH (N)	CRUSHED	182.90	182.90
1	REAR FLOOR PANEL (N)	TO REPAIR SEE LABOUR	1,180.60	-
1	REAR FLOOR PANEL TOOL SPONGE (N)	SERVICEABLE	485.20	-
1	REAR FLOOR PANEL TOP BOARD (N)	SERVICEABLE	365.40	-
2	REAR FLOOR SIDE PANEL @\$201.40 (N)	TO REPAIR SEE LABOUR	402.80	-
2	REAR FENDER @\$1005.70 (N)	TO REPAIR SEE LABOUR	2,011.40	-
2	REAR FENDER COWLING @\$85.60 (N)	SERVICEABLE	171.20	-
2	REAR FENDER INNER TRIM @425.40 (N)	SERVICEABLE	850.80	-
1	REAR EXHAUST PIPE (N)	BENT	635.70	557.00
2	REAR SILENCER MOUNTING (N)	TORN (1PC ONLY)	65.60	25.00
	LESS 20% DISCOUNT		-5,012.54	-2,235.92
			20,050.16	8,943.68



## **LKK Auto Consultants Pte Ltd**

51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Page No.:3 of 4

Qty	Description of Parts	Condition	Estimate By Workshop (\$))	Our Adjusted (\$)
	SPECIAL NETT ITEMS			
1	FRONT NUMBER PLATE (SN)	BROKEN	50.00	35.00
8	FRONT BUMPER CLIPS @\$5.00 (SN)	NECESSARY	40.00	30.00
4	FRONT GRILLE CLIPS @\$5.00 (SN)	NECESSARY	20.00	20.00
1	TAIL GATE WINDSCREEN SEALANT (SN)	NECESSARY	50.00	50.00
1	REAR NUMBER PLATE (SN)	SERVICEABLE	50.00	-
8	REAR BUMPER CLIPS @\$5.00 (SN)	NECESSARY	40.00	30.00
2	TAIL LAMP CLIPS @\$5.00 (SN)	SERVICEABLE	10.00	-
1	REAR REVERSE SENSOR (SN)	BROKEN	280.00	200.00
1	BATTERY (SN)	CUT	220.00	220.00
			760.00	585.00
	<u>LABOUR</u>			
	TO DISMANTLE, REPLACE, CUT, WELD, KNOCK OUT DENTS TO STRAIGHTEN ACCIDENT PARTS ASMENTIONED ON THE 'PARTS REPAIR' COLUMN INCLUSIVE OF REPLACEMENT PARTS. INCLUSIVE OF THE REPAIR OF N/S FRONT FENDER, FRONT DOOR RH, FRONT WHEEL HOUSE PANEL RH, TAIL LAMP PANEL, REAR FLOOR PANEL, REAR FLOOR SIDE PANEL AND REAR FENDER.		1,575.00	1,500.00
	PUTTY & SPRAY PAINTING TO ADJACENT PANELS. JOB ALLOWANCE. PAINT MATERIAL.		1,300.00	1,300.00
	APPLY RUST PROOFING ON THE ADJACENT PANELS.		100.00	50.00
	REMOVE AND REPLACE REAR BUMPER REVERSE SENSOR & CONDUCT DISTANCE SAFETY SETTING.		76.50	30.00
	REMOVE AND REPLACE REAR EXHAUST SYSTEM.		76.50	50.00
	TRANSFER OF EXISTING TAILGATE MECHANISM TO NEW TAILGATE.		81.00	80.00
	REMOVE / REPLACE AIRCON CONDENSER AND REFILL AIRCON GAS.		112.50	80.00
	REMOVE AND REFIX TAILGATE REAR WINDSCREEN GLASS. (2-MAN JOB)		135.00	120.00
	WIRING AND BULB CHECKING.		45.00	30.00
			3,501.50	3,240.00
	GRAND TOTAL		24,311.66	12,768.68



Page No.:4 of 4

RECOMMENDED COST OF LUMP SUM REPAIRS		10,200.00
(TO ITS PRE-ACCIDENT CONDITION)		

Report Ref No. CS3/FWD19019550/Eyf3e2-1



**Automotive Assessor** 

X.S.

**ADRIAN LING WAI PING** 

B.Eng,AMSOE,AMIRTE,AMSAE-A,M.MATAI

**Licensed Appraiser** 

DISCLAIMER OF LIABILITY TO THIRD PARTIES:- This Report is made solely for the use and benefit of the Client named on the front page of this Report.

No liability of responsibility whatsoever, in contact or tort, is accepted to any third party who may reply on the Report wholly or in part. Any third party acting or replying on this Report, in whole or in part, does so at his or her own risk.